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ikB & 2-Qy p[k

I. vaxzsth esa vFkZ fyf[k,%
1. [kj &donkey
2 Ukeu & welcome
3 ij & wing
4- ou & forest
5 Fku & udder

II. u, “kCn cukb,%
1. Q 1- Qy

2. g 2- gy

3. Uk 3 Uky
4- d 4- dy
5- p 5- py

III. fp= cukb, %
1- gy

2- Uk;u

3- Uky

4- Qy

5- ij

y



Iv. v{kj tksMdj fyf[k, %

1- [k $ j ¾ [kj

2- /k $ u ¾ /ku

3- Fk $ u ¾ Fku

4- u $ j ¾ uj

5- i $ j ¾ ij

ikB & 3- ikB”kkyk tk

I vaxzsth esa vFkZ fyf[k, %

1. Xkk; & cow
2. ikB”kkyk & school
3. dku & ear
4. lkjl & crane
5. ukyk & canal

II. fp= igpkudj uke fyf[k, %

xktj ckny
rkyk ekyk Nkrk

III. ,d tSls “kCn ij xksyk yxkb, %



1- ekyk & rkyk ukyk

2- ckny & pkoy ikyd

3- Nkrk & ekrk tkrk

4- dku & eku tku

5- ukuk & & xkuk [kkuk

IV. lgh uke ij xksyk yxkb,%

1- 1- ukyk 2- 3- ekyk

2- 1- 2- Nkrk 3- ekrk

3- 1- ckx 2- xk; 3-

4- 1- ekul 2-lkjl 3-

ikB & 4- fe= ls feykb, %

I. vaxzsth esa vFkZ fyf[k,%

1- fdyk & fort

2- feBkbZ & sweets

3- fe= & friend
4- fp= & picture
5- fdokM+ & door
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II. u, “kCn cukb, %
Rkkc 1. fdrkc

fd okM+ 2. fdokM+

yk 3. fdyk

lku 4- fdlku

III. lgh “kCn ij xksyk yxkb, %

1- fe= & fe= i=

2- fdyk & feyk esyk

3- fl;kj & flrkj fnekx

4- fnu fxu fcu

5- fcy & fny fey

IV. fp= ls feykb,%

1- fpfM+;k ( 2 )

2- fdokM+ ( 4 )

3- flrkj ( 1 )

4- fdrkc ( 5 )

5- fxykl ( 3 )
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ikB & 5- ?kMh yk

I. tksMs cukb, %

1- eNyh & river ( 3 )
2- lh<h & Tamarind ( 5 )
3- unh & Insect ( 4 )
4- dhV & Fish ( 1 )
5- beyh & Ladder ( 2 )

II. NqVs gq, v{kj fyf[k, %

1. Rkhj

2. nhokyh

3. dhV

4. ihyk

5. phrk

III. fp= igpkudj uke fyf[k,%

( lhVh] rhj , beyh, frryh )

beyh frryh rhj lhVh



IV. u, “kCn cukb,%

be beyh
FkS FkSyh

nhok nhokyh

tk tkyh
eqj eqjyh

ikB & 6- lqu eqjyh dh /kqu

I. vaxzsth esa vFkZ fyf[k, %

1. dNqvk &tortoise
2. iqy &bridge
3. pqfg;k &mouse
4. equh &saint
5. xqfM+;k &doll

II. m dh ek=k tksMdj fyf[k, %

1. edV & eqdqV
2. rylh & rqylh
3. iy & iqy

4. xykc & xqykc

5. dNvk & dNqvk

yh



III. lgh dze esa fyf[k, %

1- vkeNq & eNqvk
2- cxqyk & xqykc
3- fr;kdq & dqfr;k
4- fueq & eqfu
5- ylhrq & rqylh

IV. fxurh fyf[k, %

,d & 1

nks & 2

rhu & 3

pkj & 4

ik¡p & 5

Ns & 6

lkr & 7

vkB & 8

ukS & 9

nl & 10

X;kjg & 11

ckjg & 12

rsjg & 13

pkSng & 14

iUnzg & 15



ikB &7- Qwy yk

I. vaxzsth esa vFkZ fyf[k, %
1 .[kwu & blood
2. >wyk & swing

3. pkdw & knife

4.Qwy & flower
5. ve:n & guava

II. Å dh ek=k tksMdj fyf[k,%

1. vky & vkyw

2..Qy & Qwy

3. di & dwi

4. Hkky & Hkkyw

5. n/k & nw/k

III. [kkyh LFkku Hkfj,%
1- rj cw t

2- ve: n

3- lw jt

4- >w yk

5- Twk rk



IV. fp= igpkudj uke fyf[k,%

lwjt pkdw twrk vkyw

ikB &8- e`x ns[k

I vaxzsth esa vFkZ fyf[k, %

1- ân; & heart

2- o’̀kHk & bull

3- d`’kd & farmer

4- o`{k & tree

5- r`.k & grass

II._ dh ek=k tksMdj fyf[k,%

1- ex & e`x

2- e.kky & e`.kky

3- ui & u`i

4- xg & x`g

5- df’k & d`f’k

6- gn; & ân;



III. uke i<dj fp= ls feykb, %

1- - o`{k ( 3 )

2- - e`.kky ( 4 )

3- - d`ik.k ( 5 )

4- - ân; ( 1 )

5 - x`g ( 2 )

IV. d` tksMdj “kCn cukb,%

ik.k d`ik.k

f’k d`f’k

‘kd d`’kd

Ikk d`ik

ikB&9- lsc [kk

I. vaxzsth esa vFkZ fyf[k,%
1- csy & creeper
2-Bsyk & trolley
3-dsyk & banana
4-est+ & table
5-jsy & train

d`



II. , dh ek=k tksMdj fyf[k,%

1-dyk & dsyk

2-lc & lsc

3-eyk & esyk

4-djyk & djsyk

5-“kj & “ksj

6-HkM+ & HksM+

III. NqVs gq, v{kj fyf[k,%

1- djsyk
2- “ksj
3- [ksy
4- est
5- lsc

IV. feyku dhft, %

1- dsyk ( 2 )

2- Bsyk ( 4 )

3- lsc ( 1 )

4- est ( 5 )

5- djsyk ( 3 )



ikB&10- iSj j[k

I vaxzsth esa vFkZ fyf[k, %

1- nSfudh & diary

2- dSnh & prisoner

3- nSfud & daily paper

4- uS;k & boat

5- rSj & swim

II. NqVs gq, v{kj dks fyf[k,%

1- uS;k

2- iSlk

3- FkSyk

4- dSnh

5- nSfud

6- iSj

III- lgh dze esa fyf[k,%
1- dlSfu & lSfud

2- lkiS & iSlk

3- ykFkS & FkSyk

4- unkeS & eSnku

5- onS & nSo



IV- fp= igpkudj xksyk yxkb,%

1- lSfud

2- rSj

3- tSlk

4- “kSyk

4- HkS;k

ikB&11- rksrk ns[k

I. vaxzsth esa vFkZ fyf[k,%

1- eksrh & pearl

2- ?kksM+k & horse

3- jksVh & roti

4- Hkksj & dawn

5- Hkkstu & meals

nSfud

iSj

iSlk

FkSyk

uS;k



II. u, “kCn cukb, %

pks 1- pksj
ekss j 2- eksj
Hkks 3- Hkksj

III. fp= ls feykb,%

1- rksrk

2- Vksih

3- jksVh

4- Vksdjh

5- eksrh

IV. vks dh ek=k tksMdj fyf[k,%

1- Hkktu & Hkkstu

2- xky & xksy

3- xkHkh & xksHkh

4- ekrh & eksrh

5- pkj & pksj

j



ikB &12- QkSt vk;k

I. vaxzsth esa vFkZ fyf[k, %

1. ukSdj & servant
2. ykS & flame

3. ikS/kk & plant

4. YkkSdh & bottlegourd

5. pkSdhnkj & watchman

II. vkS dh ek=k tksMdj fyf[k,%

1. Ykk & ykS

2. Ikk/kk & ikS/kk

3. dkvk & dkSvk

4. f[kykuk & f[kykSuk

5. gFkkM+h & gFkkSM+h
III. fp= igpkudj uke fyf[k, %

1- f[kykSuk

2- dkSvk

3- gFkkSMh

4- ykSdh



5- ikS/kk

IV. fxurh fyf[k, %

1- lksyg & 16
2- l=g & 17
3- vBkjg & 18
4- mUuhl & 19
5- chl & 20

6-- bDdhl & 21

7- ckbZl & 22

8-- rsbZl & 23

9- pkSchl & 24

10- iPphl & 25

11- NCchl & 26

12- lRrkbZl & 27

13- vV~BkbZl & 28-

14- murhl & 29

15- rhl & 30




